

IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN					RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (if "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD-KEEPERS	ANNUAL HOURS PER RECORD-KEEPER	TOTAL RECORD-KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
95.12	Blood and Blood Products Certification - Federal Government		28	10.0000	280.00	0.5000	140.00			0.00
93.4 , 93.418 (D), 93.420 (B), 93.427 (C &D)	Official Identification - Business		105	1.0000	105.00	2.0000	210.00			0.00
	Individual		20	1.0000	20.00	2.0000	40.00			0.00
92.5 (b)	Request for Classification as Negligible or Controlled Risk - Federal Government		2	1.0000	2.00	0.5000	1.00			0.00
92.5 (d)	Retention of Classification as Either Negligible or Controlled Risk - Federal Government		2	1.0000	2.00	0.5000	1.00			0.00
SUBTOTAL					409.00		392.00	0.00		0.00
TOTAL OF ALL PAGES					32,499.00		12,872.00	152.00		3.40
TOTAL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c					32,651.00		12,876.00			

TITLE OF INFORMATION COLLECTION DOCUMENT
BSE; Importation of Bovine and Bovine Products

OMB NO.
0579-0393

DATE PREPARED

<p>INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.</p> <p style="text-align: center;">(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average</p> <p>(K)Total/(I)Total = (J)Average</p> <p>NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.</p>	<p>TITLE OF INFORMATION COLLECTION DOCUMENT</p> <p>BSE; Importation of Bovine and Bovine Products</p>	<p>OMB NO.</p> <p>0579-0393</p> <hr/> <p>DATE PREPARED</p>
--	--	--

IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN								
SECTION OF REGS. (A)	DESCRIPTION (B)	FORMS NO (S) (If "none" so state) (C)	REPORTS						RECORDS		
			NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD-KEEPERS (I)	ANNUAL HOURS PER RECORD-KEEPER (J)	TOTAL RECORD-KEEPING HOURS (Col. I x J) (K)	
92.7	Recordkeeping: Enforcement of a Ruminant-to-Ruminant Feed Ban - Federal Government				0.00			0.00	2	0.500	1.00
93.4, 93.418(D), 93.420 (B), 93.427 (C.&D)	Declaration of Importation - Business	VS 17-29	100	100.0000	10,000.00	0.3330	3,330.00			0.00	
94.27	Written Notification for Transit of Articles - Business		20	20.0000	400.00	0.5000	200.00			0.00	
93.420, 90.423, 93.427	Export Certificate from Canada - Business		100	100.0000	10,000.00	0.3330	3,330.00			0.00	
	Bovine Imports from Mexico - Business		100	100.0000	10,000.00	0.3330	3,330.00			0.00	
93.420, 93.405, 93.406, 93.407	Bovine Export Health Certificate: Risk Classification - Federal Government		10	20.0000	200.00	4.0000	800.00			0.00	
SUBTOTAL					30,600.00		10,990.00	2		1.00	

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total = (J)Average NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.			TITLE OF INFORMATION COLLECTION DOCUMENT BSE; Importation of Bovine and Bovine Products					OMB NO. 0579-0393		DATE PREPARED	
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN								
SECTION OF REGS. (A)	DESCRIPTION (B)	FORMS NO (S) (If "none" so state) (C)	REPORTS					RECORDS			
			NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD-KEEPERS (I)	ANNUAL HOURS PER RECORD-KEEPER (J)	TOTAL RECORD-KEEPING HOURS (Col. I x J) (K)	
94.19, 94.20, 94.21	Commodities Export Health Certificate: Risk Classification - Federal Government		40	10.0000	400.00	0.5000	200.00			0.00	
94.23	Export Health Certificate: Gelatin - Federal Government		10	40.0000	400.00	0.5000	200.00			0.00	
94.21, 94.22(2), 95.4, 95.7(f), 95.8(e), 95.9(f), 95.11	U. S. Veterinary Permit for Importation and Transportation of Controlled Materials and Organisms and Vector - Business	VS 16-3	200	1.0000	200.00	3.0000	600.00			0.00	
94.22	Recordkeeping: Proof of Legally Harvested Meat or Dressed Carcass - Business				0.00		0.00	150	0.016	2.40	
95.4 (c)	Permit for the Import of Serum - Business		70	1.0000	70.00	1.0000	70.00			0.00	
95.4	Orginal Certificate for Process Animal Protein, Offal, Tankage, Fat, Glands, Certain Tallow Other Than Certain Tallow Derivatives, and Serum - Federal Government		3	6.0000	18.00	1.0000	18.00			0.00	
SUBTOTAL					1,088.00		1,088.00	150		2.40	

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total = (J)Average NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.				TITLE OF INFORMATION COLLECTION DOCUMENT BSE; Importation of Bovine and Bovine Products				OMB NO. 0579-0393		
								DATE PREPARED		
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN							
SECTION OF REGS. (A)	DESCRIPTION (B)	FORMS NO (S) (If "none" so state) (C)	REPORTS					RECORDS		
			NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD-KEEPERS (I)	ANNUAL HOURS PER RECORD-KEEPER (J)	TOTAL RECORD-KEEPING HOURS (Col. I x J) (K)
95.5	Certificate to Import Meat-and-Bone Meal and Greaves Derived from Bovines - Federal Government		2	6.0000	12.00	1.0000	12.00			0.00
95.7	Certificate to Import Collagen Derived from Bovines - Federal Government		10	4.0000	40.00	1.0000	40.00			0.00
95.9	Certificate to Import Derivatives of Tallow Derived From Bovines - Federal Government		6	5.0000	30.00	1.0000	30.00			0.00
95.10	Certificate to Import Dicalcium Phosphate Derived from Bovines - Federal Government		5	4.0000	20.00	1.0000	20.00			0.00
95.13, 95.14	Certificate to Import Provsessed Animal Protein Derived From Animals Other Than Ruminants From BSE Negigible Risk or Controlled Risk Regions - Federal Government		20	15.0000	300.00	1.0000	300.00			0.00
					0.00		0.00			0.00
SUBTOTAL					402.00		402.00	0		0.00